



FUNCTIONAL PROPERTIES OF DEFATTED WHEAT GERM PROTEIN ISOLATE

Ali F. Hamed¹*, Makarim. A. Mousa²

¹General Company for Grain Processing, Ministry of trade, Baghdad, Iraq, Ali.Hamad2102m@coagri.uobaghdad.edu.iq

²Professor PhD., Department of Food Science, Collage of Agricultural engineering science, University of Baghdad, Baghdad, Iraq.
makarem.ali@coagri.uobaghdad.edu.iq

Received 30/ 4/ 2024, Accepted 13/ 8/ 2024, Published 30/ 6/ 2026

This work is licensed under a CCBY 4.0 <https://creativecommons.org/licenses/by/4.0>



ABSTRACT

The research examined the functional properties of defatted wheat germ protein isolate (DWGPI) and compared it with commercial casein. The results of the chemical composition of samples raw wheat germ RWG, defatted wheat germ DWG and DWGPI showed that DWGPI was higher than RWG and DWG in protein content (86.18) %, and DWG was higher in carbohydrate content (58) %, while the highest percentage of fat and moisture reached (11.8, 9.5) % in the RWG sample. respectively. In addition, the functional properties of wheat germ protein isolate (DWGPI) were compared with commercial casein protein. The solubility at different levels of pH for both samples showed that the highest percentage of solubility at pH 12 was (70.5, 65.6) %, respectively, and the lowest percentage of solubility at pH 4 was (13.3, 12.8) %, respectively. While the highest ability to emulsify was (86, 83) % at pH 12 and (75, 65.6) % for emulsion stability for both protein isolate and casein samples, respectively. While the highest value of foaming ability was at pH 12, about 82% and 74%, and the lowest value was at pH 4, about 12% and 8% for protein isolate and casein, respectively. As for foam stability at different pH levels and times, the highest value at pH 12 was (90, 84, 73, 72) % for protein isolate and (87, 75, 64, 60) % for casein, and the lowest value was at pH 4. The highest value for water absorption at pH 10 was (6.36, 11.1) ml water/gm protein, and the lowest value at pH 4 was (1.49, 2.05) ml water/gm protein for protein isolate and casein, respectively. While the fat holding capacity of the protein isolate was (1.74) ml oil/gm protein and for casein (1.32) ml oil/gm protein.

Keywords: Chemical composition, protein ISOLATE, functional properties, casein, foam stability.

* This article is taken from the first researcher's master's thesis.



الخصائص الوظيفية للمعزول البروتيني منزوع الدهن لجنين القمح

علي فاخر حمد¹، مكارم علي موسى²

¹ الشركة العامة لتصنيع الحبوب، وزارة التجارة، بغداد، العراق، Ali.Hamad2102m@coagri.uobaghdad.edu.iq
² الاستاذ الدكتور، قسم علوم الاغذية، كلية علوم الهندسة الزراعية، جامعة بغداد، بغداد، العراق، makarem.ali@coagri.uobaghdad.edu.iq

الخلاصة

تناول البحث دراسة الخصائص الوظيفية للمعزول البروتيني لجنين القمح منزوع الدهن (DWGPI) ومقارنتها مع الكازين التجاري. أذ بينت نتائج التحليل الكيميائي للعينات جنين القمح الخام RWG وجنين القمح منزوع الدهن DWG و DWGPI. أن DWGPI كان أعلى من RWG و DWG في محتوى البروتين (86.18%)، وكان DWG أعلى في محتوى الكربوهيدرات (58%)، بينما أعلى نسبة للدهون والرطوبة بلغت (11.8، 9.5)% في عينة RWG على التوالي، بالإضافة إلى ذلك، تمت مقارنة الخصائص الوظيفية للمعزول البروتيني لجنين القمح (DWGPI) مع بروتين الكازين التجاري. حيث أظهرت قابلية الذوبان عند مستويات مختلفة من الأس الهيدروجيني لكلا العينتين أن أعلى نسبة ذوبان عند الأس الهيدروجيني 12 كانت (70.5، 65.6) %، على التوالي، وأقل نسبة للذوبان عند الرقم الهيدروجيني 4 كانت (13.3، 12.8) % على التوالي. بينما كانت أعلى قابلية على الاستحلاب هي (86، 83) % عند الرقم الهيدروجيني 12 و (75، 68.3) % لثبات المستحلب لكل من عينات المعزول البروتيني والكازين على التوالي. في حين كانت أعلى قيمة لقابلية تكوين الرغوة عند الرقم الهيدروجيني 12 حوالي 82 % و 74 % وأقل قيمة كانت عند الرقم الهيدروجيني 4 حوالي 12% و 8% للمعزول البروتيني والكازين على التوالي. أما بالنسبة لثبات الرغوة عند مستويات وأزمنة مختلفة من الأس الهيدروجيني فإن أعلى قيمة عند الأس الهيدروجيني 12 كانت (90، 84، 73، 72) % للمعزول البروتيني و (87، 75، 64، 60) % للكازين وأقل قيمة كانت عند الأس الهيدروجيني 4. وكانت أعلى قيمة لقابلية امتصاص الماء عند الأس الهيدروجيني 10 هي (6.36، 11.1) مل ماء/جم بروتين، وأقل قيمة عند الأس الهيدروجيني 4 كانت (1.49، 2.05) مل ماء/جم بروتين. للمعزول البروتيني والكازين، على التوالي. بينما بلغت قابلية امتصاص الدهون للمعزول البروتيني (1.74) مل زيت / جم بروتين وللکازين (1.32) مل زيت / جم بروتين.

الكلمات المفتاحية: التركيب الكيميائي، المعزول البروتيني، الخصائص الوظيفية، الكازين، ثباتية الرغوة.

INTRODUCTION

The wheat germ is one of by-product of milling, it constitutes about 2-3% of the total weight (Zhang *et al.*, 2023; Ling *et al.*, 2019). It is a rich source of proteins, minerals and vitamins (Nashmi & Naser, 2022; Wang *et al.*, 2017). Many studies reported that wheat germ was the best product in milling process due to it contains high nutritional value, such as high content in essential amino acids including threonine, lysine and methionine which they were the highest among the rest grain, and most of the nutrients elements were found in the wheat germ, especially (protein, fat, minerals and sugar) compared to the endosperm (AL-Sadoon & Naji, 2019; Zangana & AL-Shamery, 2016).

(Gao *et al.*, 2023; Mohammed *et al.*, 2019) indicated that the percentage of protein in wheat germ was 25% -30%, with its high content of essential amino acids, especially lysine, arginine, and threonine. The ash was 3% - 5%, it was rich in minerals such as zinc, potassium, phosphorus and magnesium, as well as the fiber content was 1.5% - 4.5%, while the fat content was (8 – 14) %, respectively. The unsaturated fatty acids such as oleic, linoleic, and linolenic acids were found in wheat germ in high proportion. While, the percentage of carbohydrates was (44 – 54) %. The wheat germ also contains some vital compounds that play an important role as antioxidants such as flavonoids, steroids, glutathione, alpha tocopherol, and octacosatols, furthermore it is a highly appealing and promising plant protein source, which contains albumin 34.5 %, globulin 15.6%, glutelin 10.6%, and prolamine 4.6% (Liu *et al.*, 2024).



The functional properties of protein can be divided according to the mechanism of protein action into three groups. The first was related to the water properties such as solubility, ability to bind water and fat thickness (Mahdi., 2016; Foegeding & Davis, 2011). The second was related to the protein structure and rheological properties such as adhesion, elasticity, viscosity and gelation. The third was related to the protein surface such as the ability to form foam, the ability to emulsify, the ability to whip, the formation of films between the protein and the oil. In addition, the sensory characteristics of protein such as color, texture, flavor and etc, (Malecki *et al.*, 2021; Nahla& Makarim, 2018; Moure *et al.*, 2006). The proteins demand was increased with raised in prices of animal proteins had to necessary for getting the alternatives of protein which have good functional qualities for use in various fields of food manufacturing (Atta&EL-Shenawi, 2013). The aim of this research is to study the functional properties of wheat germ protein isolate and compare them with the functional properties of commercial casein.

MATERIALS AND METHODS:

Wheat germ was obtained from mill in the Baghdad city, which is affiliated with the Iraqi Ministry of Trade. It is the result of the milling process of a mixture of several cultivars of wheat grains. Casein was purchased from the local market with a protein content of 82%.

Preparation of the raw wheat germ sample:

The enzymes of raw wheat germ were inactivated by heating for 20 min at 105°C (Zhu *et al.*, 2006; Claver & Zhou, 2005), defatted with n-hexane for 8 h using a Soxhlet device and it was dried using an evaporator at (40 °C), then the defatted wheat germ was grinded using an electric grinder and sieved through a 60-mesh screen . The samples were kept in sealed glass jars at 4 °C until used.

Preparation of WGPI from defatted wheat germ:

The WGPI was prepared according to Zhu *et al.*, (2006), with some modifications. Defatted wheat germ flour was mixed with a solvent (NaCl 1M) with ratio of 1:10 (sample: solvent). Firstly, the pH was adjusted to 9.5 using Na OH (1 M), mixing for 30 minutes, then centrifuged (8000 rpm for 20 minutes) at room temperature.

After that, the filtrate was separated from the precipitate, the filtrate was taken, and the acidity of the it was adjusted to 4 using of HCL (1 M). The protein precipitate was separated using centrifugation (8000 rpm) for 20 minutes, the acidity of the precipitate was adjusted to pH 7 using NaOH (0.1 M). Finally, they were lyophilized and kept by freeze in sealed plastic containers until use.

Chemical Analysis:

The chemical composition of raw wheat germ (RWG), defatted wheat germ (DWG), and defatted wheat germ protein isolate (DWGPI) was estimated as stated in AACC, (2000), and the percentage of carbohydrates was estimated by the difference from other components as in Pearson, (1970).



Estimation of functional properties:

Solubility capacity:

The Solubility for samples (DWGPI, casein) were estimated as in **Catterjee *et al.*, (2015)**, where 50 mg of sample was weighed and added to 20 ml distilled water over different pH ranges (1 - 12) using a solution of HCL and NaOH, 1 molar concentration. Then it was left for 15 minutes, after which centrifugation was performed at a speed of 10,000 rpm for 15 min. The filtrate was taken and the percentage of protein was estimated using the Micro Kjeldahl method, then the % solubility was calculated as follows:

$$\% \text{ solubility} = \text{protein content in the filtrate} / \text{percentage of protein in DWGPI} \times 100$$

Water Holding Capacity (WHC):

The method mentioned in **Jasim & Nasser., (2023)** was followed to measure the WHC. 1 gm of sample (DWGPI, casein) was mixed and added to 20 ml of distilled water. It was mixed using a mixer (Vortex) for 5 minutes and the pH was adjusted. To (4, 7, 10, 12) and left for 15 minutes at room temperature, then centrifugation was performed at a speed of 10,000 rpm for 10 minutes, after that the WHC was calculated according to the following equation:

$$\text{WHO} = \frac{W_2 - W_1}{W_0}$$

where:

W_1 = the weight of the tube plus the dry sample. W_2 = the weight of the tube plus the sediment.

W_0 = the weight of the dry sample.

Oil Holding Capacity (OHC):

Oil holding capacity was measured as stated in **Onsaard *et al.*, (2010)**, by mixing 1 g of sample (DWGPI, casein) with 10 ml of oil in a centrifuge tube using a mixer (Vortex) for 5 minutes and leaving it for 15 minutes at room temperature. Then, centrifugation took place for 10 minutes at 10,000 rpm, the floating part was removed, then the tube was weighed, and the percentage of OHC was calculated from the following equation:

$$\text{OHC (gm Oil/ gm Sample)} = \frac{F_2 - F_1}{F_0}$$

Where:

F_1 = the weight of the tube plus the dry sample. F_2 = the weight of the tube plus the sediment. F_0 = the weight of the dry sample.

Capacity & Stability of foam:

The foam capacity (FC) and foam stability (FS) of samples (DWGPI, casein) were measured by the method described **Ayed & Naji., (2017)**, by mixing 1 g of the sample with 100 ml of distilled water and a pH of (4, 7, 10, 12) using a 1M NaOH or HCL solution, and mixing the mixture. With an electric mixer at maximum speed for 5 minutes, then the mixture was transferred to a 100ml graduated cylinder, and the volume was measured before and after mixing with the electric mixer, and the following equation was applied:

$$\% \text{FC} = \text{Volume after mixing} - \text{Volume before mixing} / \text{Volume before mixing} \times 100$$

As for the stability of the foam (FS), it was measured by measuring the volume of the foam within (0, 15, 30, 45, 60) minutes, and the following equation was used:



$\%FS = \text{Foam volume after time} / \text{initial foam volume} \times 100$

Emulsifying activity and emulsifying stability:

The emulsifying activity (EA) and emulsifying stability (ES) were estimated as stated **Sharma et al., (2016)**, with some modifications, by mixing 5 ml of sunflower oil with 5 ml of sample (DWGPI, casein) with a concentration of (0.25%) and a pH of (4, 7, 10, 12). Then the mixture was stirred at a speed of 10,000 rpm using a homogenizer for a minute, after which centrifugation was performed for 5 minutes and at a speed of 3,500 rpm. The graduated cylinder was used to measure the volume of the emulsified layer, and the following equation was applied:

$\%EA = \text{Emulsion layer volume} / \text{total volume} \times 100$

The stability of the emulsion was measured by placing it in a water bath at a temperature of 85°C for ½ hour, then centrifuging it at 3500 rpm for 5 minutes. The graduated cylinder was used to measure the size of the emulsion layer as follows:

$\%ES = \text{Emulsion layer volume after heating} / \text{total volume before heating} \times 100$

Statistical analysis:

The statistical program Statistical Analysis System – **SAS., (2018)** was used to analyze the data to study the effect of different parameters on the studied traits according to a completely randomized design (CRD), and the significant differences between the means were compared with the Least Significant Difference (LSD) test.

RESULTS AND DISCUSSION

chemical composition :

Table 1 shows the chemical composition of RWG, DWG, and DWGPI, where the percentage of moisture, ash, fat, protein, and carbohydrates in RWG was (9.5, 4.1, 11.8, 27.0 and 47.6) % and in DWG was (6.46, 4.7, 0.84, 30.0 and 58.0) %, while in DWGPI it was (4.0, 2.3, 0.2, 86.18 and 7.32) %, respectively. The percentage of protein in DWGPI was 86.18%, and this percentage is higher than Hassan et al., (2010), they were found that protein isolate of wheat germ was 75.38%, while AL- Sadoon & Naji, (2019) also reported that the percentage of protein in the protein isolate of wheat germ and the protein isolate of grain fraction was 73% and 74%, respectively. While, Rahman, (2018) noted that the percentage of protein in the protein isolate prepared from mung seeds was 83.70%. While Abarghoei et al., (2023) stated that the protein content in wheat germ protein isolate reached at 80.31%. The RWG was the highest in moisture and fat content (9.5 and 11.8) % as well as the DWG was the highest in carbohydrate content about 58%. The lowest percentage of moisture, ash, fat, and carbohydrates was in DWGPI sample, which amounted to (4.0, 2.3, 0.2, and 7.32) %, respectively. Those results were identical to Zhu et al., (2006), they mentioned that percentage of ash in wheat germ protein isolate was 2.32%. As for carbohydrates, the results were close to Zhu et al., (2006) which they found the carbohydrates were 7.71% .

**Table (1):** Chemical composition of RWG, DWG, DWGPI sample

Sample	%Moisture	%Ash	%Fat	%Protein	%Carbohydrate
RWG	9.5	4.1	11.8	27	47.6
DWG	6.46	4.7	0.84	30	58
DWGPI	4.0	2.3	0.2	86.18	7.32

*(RWG)= Raw wheat germ, (DWG)= defatted wheat germ flour, (DWGPI)= defatted wheat germ protein isolate

Estimation of functional properties:

Solubility

Table 2 shows the solubility of DWGPI, where the highest solubility was 70.2% at pH 12, while at same pH, the highest solubility of casein was 65.6%. The lowest solubility was at the pH 4 for both DWGPI and casein (13.3 and 12.8) %, respectively. Rahman, (2018) indicated that the solubility of mung protein isolate was (60.23%) at pH 8 and decreased to 27% at pH 5, Zhu et al., (2010) reported that the highest solubility of defatted wheat germ protein isolate reached 83.6% at pH 12, and the lowest solubility was 3.8% at pH 4. The decrease in solubility at pH (4 and 5), due to being close to the electrical neutralization point at which the amino acids are transformed into the non-ionized form. The resultant decrease in the charge of the protein and solubility, whereas the solubility increased when the pH would be towards the basic and acidic numbers which far from the electrical neutralization point, due to the increase in the resultant charge of the protein and the transformation of the amino acids into the electrically neutral state. Ionized, thus increasing solubility (Hmod & Naji, 2019). The results of the statistical analysis indicated significant differences ($p < 0.05$) in the solubility of protein isolate and casein separately at the pH 1 to 12. Thus, there were significant differences when compared the protein isolate and casein at the pH 2, 11 and 12 .

Table (2): Solubility of protein isolate and casein at different pH.

% Solubility		PH	LSD value
DWGPI	Casein		
23.0	21.3	1	2.95 NS
52.2	42.1	2	4.89 *
31.4	29.3	3	3.02 NS
13.3	12.8	4	2.19 NS
15.4	14.5	5	2.06 NS
18.3	16.2	6	2.68 NS
19.4	20.4	7	1.96 NS
23.5	22.3	8	2.08 NS
45.2	42.2	9	3.47 NS



56.6	54.4	10	3.62 NS
64.3	58.2	11	4.97 *
70.2	65.6	12	4.28 *
6.408 *	5.946 *	LSD value	---

* $P \leq 0.05$, NS=non-significant

Absorption of water and fat

Water and oil holding capacity (WHC and OHC)

The water and fat holding capacity of the protein isolate and casein at different pH was 4, 7 and 10 as shown in Table 3. The water holding capacity of the protein isolate at different pH levels was (1.49, 2.95 and 6.36) ml/g and for casein was (2.05, 4.15 and 11.1) ml /g respectively. The proteins of casein were noted that were the best in their ability for holding water, and the isolates of protein with the differences in PH. Those results were agreed with **Ivanova et al., (2014)**, they were indicated that the water holding capacity of the sunflower protein isolate was 8.57 ml/g. While, **Toliba, (2004)** stated that the water holding capacity of the flaxseed protein isolate was 6.8 ml/g. On the other hand, when studying the protein isolate of tuna by **Yoon et al., (2018)**, the ability for holding water and pH were increased, because of opening the protein chains and exposing the polar amino acids to the medium, that led the increasing of concentrations of non-polar acids into protein structure, thus increasing the ability of the isolate protein to retain water.

Table (3): Water holding capacity of protein isolate and casein in different pH

Water abs. (ml/g)		PH	LSD value
Casein	Protein isolate		
2.05	1.49	4	1.02 NS
4.15	2.95	7	1.88 NS
11.1	6.36	10	2.59 *
2.062 *	1.877 *	LSD value	---

* $P \leq 0.05$, NS= non- significant; Water abs= Absorption of water

The fat-holding ability of DWGPI and casein were (1.74 and 1.32) ml oil/gm protein. These results were corresponding with other study in its ability of fat-holding. The ability of fat-holding for wheat germ protein isolate was less than of soy protein isolate as 1.042 g/g and 2.434 g/g, respectively (**Zhu et al., 2010**). In addition, Jasim & Nasser, (2020) stated that the fat-holding ability of whey protein was 1.24 ml of oil/ gm protein. Whereas, **Hassan et al., (2010)** noted that the fat-holding capacity of the wheat germ protein isolate was 1.28 gm oil/gm protein and less than the capacity of fat-holding for wheat protein isolate under study. The fat-holding capacity depends on the non-polar groups in the side chains of the protein, and the



ability to hold the fat depends on several factors, including the solubility and degree of denaturation of the protein (Luma *et al.*, 2020; Hmod & Naji, 2019).

Foaming capacity

Table 4 shows the foaming ability of DWGPI and casein at different pH were 4, 7, 10 and 12. The ability to form foam for DWGPI was (12, 16, 44 and 82) % and for casein (8, 12, 34 and 74) %. The results showed, the lowest in ability of DWGPI and casein to form foam was at pH 4. The ability to foam form DWGPI was increased with decreasing acidity, becoming its largest value at pH 12, as it became (74 and 82) % for the protein isolate and casein. Those results were consistent with Toliba, (2004), the ability to foam increased significantly with the increasing in pH, and this was attributed to increase the resulting charge of the protein, which limits hydrophobic interactions and increasing the solubility and flexibility of the protein, that leads to increased diffusion of the protein at the interface (water and air), and thus increasing the ability to form foam (Meriles *et al.*, 2019; Malik & Saini, 2017; Yuliana *et al.*, 2014).

Table (4): Foaming ability of protein isolate and casein at different pH.

% Foaming ability		PH	LSD value
Casein	Protein isolate		
8	12	4	3.91 *
12	16	7	3.79 *
34	44	10	5.63 *
74	82	12	5.76 *
6.92*	7.84*	LSD value	---

* $P \leq 0.05$

Table 5 indicates the stability of the foam formed from DWGPI and casein proteins as comparison proteins at different pH levels (4, 7, 10, 12) and different times (15, 30, 45, 60) minutes. It is noted from the table that the stability of the foam increases with the decrease in the acidity of the mixture, and this is consistent with what was reached by Ma *et al.*, (2018); Li *et al.*, (2018) when using protein isolates from cottonseeds and soybeans, and they attributed this to the increase in protein solubility with increasing pH, which increases the diffusion of protein at the interface between water and air, thus reducing surface tension and increasing foam stability. Mau & Hua, (2012) indicated a decrease in the stability of the foam at the electrical neutralization point, as the stability of the foam depends on the thickness, cohesion, and viscosity of the protein membrane surrounding the air bubbles. Therefore, the reason for the decrease in foam stability may be due to the repulsion of charges between the protein molecules, leading to a decrease in the cohesion of the membranes. Protein and the breakdown of foam quickly. Increasing the pH above 4 increases the total charge of the protein and thus increases the solubility and elasticity of the protein, which leads to the protein spreading on the surface separating water and air quickly, enveloping the air molecules and forming foam (Tariq *et al.*, 2023; Hmod & Naji, 2019).

**Table (5):** Foam stability of protein isolate and casein for different pH

		15	30	45	60
Protein isolate	4	0	0	0	0
	7	57	48	40	32
	10	61	54	51	50
	12	90	84	73	72
casein	4	0	0	0	0
	7	56	51	42	33
	10	60	55	50	48
	12	87	75	64	60
LSD value		7.95 *	6.27 *	6.84 *	6.02 *

Emulsifying activity and stability

Table 6 indicates the ability of DWGPI and casein proteins to form an emulsion at different pH levels (4, 7, 10, 12). The table shows that the highest percentage of emulsification ability was at pH 12 as it reached (86, 83) % for both DWGPI and casein, respectively, while the lowest percentage of emulsification was at pH 4, where it reached (27,37) % for DWGPI and casein, respectively. The increase in the ability of proteins to form emulsions with increasing pH is due to the increase in protein solubility and the increase in the balance of the (hydrophilic/ hydrophobic) groups of the protein on the water surface, which increases the diffusion of the protein at the interface (water/oil) and reduces the surface tension force in the phase separator (**Malik & Saini, 2017; Sharma et al., 2016**).

Soluble proteins form a layer surrounding the oil droplets, where the hydrophobic groups in the protein are linked to the lipid interface, while the polar and hydrophilic groups are linked to the surface of the liquid medium (**AL-Wahed Salbukh et al., 2019; Khairy et al., 2018**). Many factors affect the ability to form an emulsion, including solubility, pH, the resultant charge of the protein, and the balance of hydrophilicity and hydrophobicity in the protein (**Hammood & Nasir, 2017; EL-Nasri & EL-Tinay, 2007**). The results of the statistical analysis showed that there were significant differences in the emulsification values at pH (4, 7, 10) for both DWGPI and casein, at a significant level ($p < 0.05$).

Table (6): Emulsifying ability of protein isolate and casein for different pH.

% EA OF casein	% EA OF protein isolate	PH	LSD value
37	27	4	4.92 *
41	54	7	5.07 *
64	72	10	4.83 *
83	86	12	3.27 NS
6.29 *	7.85 *	LSD value	---

* $P \leq 0.05$, NS= non- significant, EA= Emulsifying ability

Table 7 indicates the stability of the emulsion formed in the presence of DWGPI and the casein comparison proteins. It is noted from the table that the stability increased with increasing pH or decreasing acidity, as the highest value of stability was reached at pH 12,



where it was (68.3, 75) % DWGPI and casein, respectively, and the lowest value was at pH 4 (10.2, 12.3) % DWGPI and casein, respectively. The results were consistent with the findings of **Chao et al., (2018)**; **Garcia- Vaquero et al., (2017)**. They showed that the stability of the emulsion increases with increasing pH due to the increased solubility of the protein at high pH, which works to increase the amount of absorbed protein in the interface (water/oil) and the formation of a strong, cohesive membrane maintains the emulsion for long periods. Also, increasing the pH increases the charge on the protein surface, causing repulsion of the fatty granules coated with protein membranes and preventing them from sticking together and being separated in the aqueous phase. The results showed Statistical analysis revealed significant differences at the level of significance ($p < 0.05$).

Table (7): Emulsion stability of protein isolate and casein at different pH

ES of casein %	ES of protein isolate %	PH	LSD value
10.2	12.3	4	2.88 NS
23.4	43.2	7	5.02 *
54.6	61.4	10	5.66 *
68.3	75	12	6.41 *
7.55 *	8.41 *		---

*= $P \leq 0.05$, NS= non- significant; ES=Emulsion stability,

CONCLUSION

Wheat germ is a rich source of proteins, and wheat germ protein isolate has good functional properties that make it an important material in food manufacturing and the preparation of some foods with special specifications. The protein isolate was superior to casein in terms of solubility, emulsion formation and stability, stability, foam formation, and ability to absorb fat, while casein was superior in ability to hold water.

REFERENCES

1. AACC. (2000). American Association of Cereal Chemists. Approved methods , 10th.
2. Abarghoei, M., Goli, M., & Shahi, S. (2023). Investigation of cold atmo sp Heric plasma effects on functional and pHysico chemical properties of wheat germ protein isolate. *LWT*, 177, 114585.
3. AL-sadoon, A. A., & Naji, E. Z. (2019). Evaluation of Chemical Composition and Study Some of the Functional Properties of the Flour and isolate Protein from The Iraqi Wheat Industry Residue. *Tikrit Journal for Agricultural Sciences*, 16(4), 160-175.
4. AL-wahed Salbukh, M. A., Musa, M. A., & Abud, S. G. (2019). Preparation wheat bran protein concentrate, studying its functional properties. *Journal of Kerbala for Agricultural Sciences*, 2(3), 39-51.
5. Atta, M. B., & El-Shenawi, G. M. (2013). Functional properties and in-vitro digestibility of bitter orange (*Citrus aurantium*) seed flour. *Merit Research Journal of Agriculture Science and Soil Sciences*, 1(3), 042-047.
6. Ayed, R. W., & Naji, E. Z. (2017). A Study of the Functional Properties of Proteins isolate from some Oil seeds. *Tikrit Journal for Agricultural Sciences*, 17.(2)



7. Chao, D., Jung, S., & Aluko, R. E. (2018). Physicochemical and functional properties of high pressure-treated isolate pea protein. *Innovative Food Science & Emerging Technologies*, 45, 179-185.
8. Chatterjee, R., Dey, T. K., Ghosh, M., & Dhar, P. (2015). Enzymatic modification of sesame seed protein, sourced from waste resource for nutraceutical application. *Food and Bioproducts Processing*, 94, 70-81.
9. Claver, I. P., & Zhou, H. (2005). Enzymatic hydrolysis of defatted wheat germ by proteases and the effect on the functional properties of resulting protein hydrolysates. *Journal of food biochemistry*, 29(1), 13-26.
10. El Nasri, N. A., & El Tinay, A. H. (2007). Functional properties of fenugreek (*Trigonella foenum graecum*) protein concentrate. *Food chemistry*, 103(2), 582-589.
11. Foegeding, E. A., & Davis, J. P. (2011). Food protein functionality: A comprehensive approach. *Food hydrocolloids*, 25(8), 1853-1864.
12. Gao, C., Jia, J., Yang, Y., Ge, S., Song, X., Yu, J., & Wu, Q. (2023). Structural change and functional improvement of wheat germ protein promoted by extrusion. *Food Hydrocolloids*, 137, 108389.
13. García-Vaquero, M., López-Alonso, M., & Hayes, M. (2017). Assessment of the functional properties of protein extracted from the brown seaweed *Himanthalia elongata* (Linnaeus) SF Gray. *Food Research International*, 99, 971-978.
14. Hammood, E. K., & Nasir, J. M. (2017). The effect of fermentation and baking processes on the pHyate degradation during the process of manufacturing whole wheat flour bread. *Iraqi Journal of Market Research and Consumer Protection (IJMRCP)*.
15. Hassan, H. M. M., Afify, A. S., Basyiony, A. E., Ahmed, G. T., & Ghada, T. (2010). Nutritional and functional properties of defatted wheat protein isolates. *Australian journal of basic and applied sciences*, 4(2), 348-358.
16. Hmod, M. K., & Naji, E. Z. (2019). Extract Proteins from some Types of Pulses and Study Their Functional Properties. *Tikrit Journal for Agricultural Sciences*, 17(4), 234-246.
17. Ivanova, P., Chalova, V. I., & Koleva, L. (2014). Functional properties of proteins ISOLATE from industrially produced sunflower meal. *International Journal of Food Studies*, 3.(2)
18. Jasim, A. S., & Nasser, J. M. (2020). Functional properties of enzymatically modified wheat gluten. *Iraqi Journal of Agricultural Sciences*, 51.(3)
19. Jasim, A. S., & Nasser, J. M. (2023). The functional properties of chemically and enzymatically modified wheat gluten. *Iraqi Journal of Agricultural Sciences*, 54(5), 1279-1291.
20. Khairy, H. L., Saadoon, A. F., Zzaman, W., Yang, T. A., & Easa, A. M. (2018). Identification of flavor compounds in rambutan seed fat and its mixture with cocoa butter determined by SPME-GCMS. *Journal of King Saud University-Science*, 30(3), 316-323.
21. Li, M., Wen, X., Peng, Y., Wang, Y., Wang, K., & Ni, Y. (2018). Functional properties of protein isolates from bell pepper (*Capsicum annuum* L. var. *annuum*) seeds. *LWT*, 97, 802-810.
22. Ling, B., Ouyang, S., & Wang, S. (2019). Radio-frequency treatment for stabilization of wheat germ: Storage stability and physicochemical properties. *Innovative Food Science & Emerging Technologies*, 52, 158-165.



23. Liu, J., Zhang, Y., Liu, J., Zhang, H., Gong, L., Li, Z., ... & Wang, Z. (2024). Effect of non-covalently bound polyphenols on the structural and functional properties of wheat germ protein. *Food Hydrocolloids*, 149, 109534.
24. Luma KH, Lafta SS, Fered SA 2020. Utilizing of the guar gum for improving the physiochemical, rheological and sensory properties of low-energy mozzarella cheese. *Annals of tropical medicine and public health*, 23.(16)
25. Ma, M., Ren, Y., Xie, W., Zhou, D., Tang, S., Kuang, M., ... & Du, S. K. (2018). Physicochemical and functional properties of protein isolate obtained from cottonseed meal. *Food chemistry*, 240, 856-862.
26. Mahdi, K. M. (2016). Detection of iron availability of wheat flour produced in Baghdad city mills: detection of iron availability of wheat flour produced in Baghdad city mills. *Iraqi Journal of Market Research and Consumer Protection*, 8(2), 83-86.
27. Małecki, J., Muszyński, S., & Sołowiej, B. G. (2021). Proteins in food systems—Bionanomaterials, conventional and unconventional sources, functional properties, and development opportunities. *Polymers*, 13(15), 2506.
28. Malik, M. A., & Saini, C. S. (2017). Polyphenol removal from sunflower seed and kernel: Effect on functional and rheological properties of protein isolates. *Food Hydrocolloids*, 63, 705-715.
29. Mao, X., & Hua, Y. (2012). Composition, structure and functional properties of protein concentrates and isolates produced from walnut (*Juglans regia* L.). *International journal of molecular sciences*, 13(2), 1561-1581.
30. Meriles, S. P., Steffolani, M. E., León, A. E., Penci, M. C., & Ribotta, P. D. (2019). PHysico-chemical characterization of protein fraction from stabilized wheat germ. *Food Science and Biotechnology*, 28, 1327-1335.
31. Mohammed, B. H., Mohammed, B. H., & Al-Anbari, I. H. (2019). Study of Protein Concentrate and for Each Wheat Germ and Defatted Wheat Germ in Biscuits Processing. *Iraqi journal of biotechnology*, 18.(2)
32. Moure, A., Sineiro, J., Domínguez, H., & Parajó, J. C. (2006). Functionality of oilseed protein products: A review. *Food research international*, 39(9), 945-963.
33. Nahla, T. K., & Makarim, A. M. (2018). Effect of wheat germ on chemical, sensory and technological properties of Soft cheese. *International Journal of Dairy Science*, 13, 40-45
34. Nashmi, R. J., & Naser, J. M. (2022). Improving the rheological and qualitative properties of bread wheat by barley-extracted pentosanes. *Iraqi Journal of Agricultural Sciences*, 53(5), 1212-1222.
35. Onsaard, E., Pomsamud, P., & Audtum, P. (2010). Functional properties of sesame protein concentrates from sesame meal. *Asian Journal of Food and Agro-Industry*, 3(4), 420-431.
36. Pearson, D. (1970). *The Chemical Analysis of Food*. 6th ed. J. & A. Churchill, London.
37. Rahman, S. A. (2018). Chemical composition and some functional properties of flour and ISOLATE protein from mung bean seeds (*Vigna radiate*) cultivated in Iraq. *Iraqi Journal of Agricultural Sciences*, 49.(3)
38. SAS. 2018. Statistical Analysis System, User's Guide. Statistical. Version 9.6th ed. SAS. Inst. Inc. Cary. N.C. USA.



39. Sharma, L.; Singh, C. and Sharma, H.K. (2016). Assessment of functionality of sesame meal and sesame protein isolate from Indian cultivar. *Journal of Food Measurement and Characterization*, 10(3), pp.520-526
40. Tariq, K. N., Khairy, H. L., Khairi, S. R., & Kamilah, H. (2023, April). Improved Physiochemical and Sensory Properties of Soft Cheese via Incorporation of Wheat (*Triticum Vulgare*) Germ. In IOP Conference Series: Earth and Environmental Science (Vol. 1158, No. 11, p. 112004). IOP Publishing .
41. Toliba, A. O. (2004). Studies on protein isolates of some oilseeds. MSe Thesis, Department of Food Science Faculty of Agriculture Zagazig University.
42. Wang, L., Ding, Y., Zhang, X., Li, Y., Wang, R., Luo, X., ... & Chen, Z. (2017). Effect of electron beam on the functional properties and structure of defatted wheat germ proteins. *Journal of Food Engineering*, 202, 9-17.
43. Yoon, I. S., Lee, G. W., Kang, S. I., Park, S. Y., Lee, J. S., Kim, J. S., & Heu, M. S. (2018). Chemical composition and functional properties of roe concentrates from skipjack tuna (*Katsuwonus pelamis*) by cook-dried process. *Food science & nutrition*, 6(5), 1276-1286.
44. Yuliana, M., Truong, C. T., Huynh, L. H., Ho, Q. P., & Ju, Y. H. (2014). Isolation and characterization of protein ISOLATE from defatted cashew nut shell: Influence of pH and NaCl on solubility and functional properties. *LWT-Food Science and Technology*, 55(2), 621-626.
45. Zangana, B. S. R., & Al-Shamery, J. S. H. (2016). Effect of partial replacement of some plant sources in quality and sensory characteristics of processed of goose meat burger. *Iraqi Journal of Agricultural Sciences*, 47(4), 1089-1100.
46. Zhang, Z. H., Cheng, W. L., Wang, X., Yang, F. W., Xiao, J. S., Li, Y. X., & Zhao, G. P. (2023). Extraction, bioactive function and application of wheat germ protein/peptides: A review. *Current Research in Food Science*, 100512 .
47. Zhu, K. X., Sun, X. H., Chen, Z. C., Peng, W., Qian, H. F., & Zhou, H. M. (2010). Comparison of functional properties and secondary structures of defatted wheat germ proteins separated by reverse micelles and alkaline extraction and isoelectric precipitation. *Food Chemistry*, 123(4), 1163-1169.
48. Zhu, K., Zhou, H., & Qian, H. (2006). Antioxidant and free radical-scavenging activities of wheat germ protein hydrolysates (WGPH) prepared with alcalase. *Process Biochemistry*, 41(6), 1296-1302.